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Section Id : 517144175

Section Number : 1
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Question Shuffling Allowed :
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1
517144539
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Question Number : 1 Question Id : 51714413241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The rote memorization of facts and hites of information is characteristic of which level of

teaching:
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Options :

Memory level of Teaching
AR %{'ﬁé ?88

1.+
Understanding level of teaching
Hae odHih L8
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Reflective Level
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Dynamic Level
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Question Number : 2 Question Id : 51714413242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This method of learning combines online learning with face to face learning?
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Options :
Reflective
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Simulation
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Question Number : 3 Question Id : 51714413243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a diagram for representing tasks, works, concept or items linked to and
arranged around a “Central concepts or subject”
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Options :
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Question Number : 4 Question Id : 51714413244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In evaluation this term is applied to the expression of opinion or judgement
regarding some situation, object or character and is quantified
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Question Number : 5 Question Id : 51714413245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The organization established in India to conduct Computer Based Testing (CBT)
for exams like UGC NET, NEET, CPAT, efc is

UGC NET, NEET, CPAT 3n&eit é_oaijvgé.)ﬁ earbes 565%@26) Dsneaso %;&Ozﬁa}&é 3’30?’8

Options :
National Testing Agency
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Mational Exam Board
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Question Number : 6 Question Id : 51714413246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This philosophy tends to believe that logic and reason are the means of acquiring
knowledge
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Options :

Experiment
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Rationalism
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Observation
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Theory
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Question Number : 7 Question Id : 51714413247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



This type of research involves collecting and analysing numerical data.
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Options :

Case Study
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Quantitative
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Focus Group
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Question Number : 8 Question Id : 51714413248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

This is a summated five point rating scale
=b $08% b srowody TBorH e
Options :

Likert Scale
F2085 open
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Stapel Scale

- %}5’;}5 ﬁ}&m

Thurstone Scale
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Guttman Scale
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Question Number : 9 Question Id : 51714413249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Principles and guidelines that help us to uphold the things we value are known as
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Options :

Etiquettes
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Manners
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Ethics

3 Hetoen

Morale
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Question Number : 10 Question Id : 51714413250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which is the theory that states all knowledge is based on experience derived from
the senses?
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Options :

Rationalism
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Research Paradigm
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Empiricism
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Sub-Section Number : 2
Sub-Section Id : 517144540
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 51714413251 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
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It was about this time | conceived the bold and arduous project of arriving at moral
perfection. Wished to live without committing any fault at anytime; | would conquer all
that either natural inclination, custom, or company might lead me into. As | knew, or
thought | knew, what was right and wrong, | did not see why | might not always do the
one and avoid the other. But | soon found | had undertaken a task of more difficulty than
| had imagined. Habit took the advantage of inattention; inclination was sometimes too
strong for reason. | concluded, at length, that the mere speculative conviction that it was
our interest to be completely virtuous was not sufficient to prevent our slipping; and that
the contrary habits must be broken, and good ones acquired and established, before we
can have any dependence on a steady, uniform rectitude of conduct.
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Sub questions

Question Number : 11 Question Id : 51714413252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The journey towards becoming morally excellent is highly
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Options :

smooth.
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poised
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simple
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demanding
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Question Number : 12 Question Id : 51714413253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The phrase: “inclination was sometimes too strong for reason” means
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Options :
The author could resist his habits

- Srioned 50 e OB HOM™ED

The author moved towards his habits

, v OO0WS S o) By SOh Ter )tk

The author listened to his reason
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The author was motivated not to get back to his habits
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Question Number : 13 Question Id : 51714413254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

According to the author, one must to prevent us from slipping
back to old habits.
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Options :

have character
DesEed Gsomd)

be virtuous
e
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develop good habits
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avoid bad company
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Question Number : 14 Question Id : 51714413255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The author realized that habits keep coming back because of
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Options :

inattention
1o o HQ
temptation
, . 08
attraction
2 % es50e
liking
4. % A0

Question Number : 15 Question Id : 51714413256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The word ‘rectitude’ means
“Te3 PO Y55 50" @R DR e9do

Options :
moral correctness
L VIO Erdd

firmly held belief
GG dadg50

2. %

spiritual elevation
esrsed8 Tad) €550

3.

charity
4 % Y550
Sub-Section Number : 3
Sub-Section Id : 517144541
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 16 Question Id : 51714413257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Voice is adjusting the pitch or tone of your voice to help your listeners to
clearly hear and understand your speech.
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manipulation

modulation
2T, e hew
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variation
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3. %
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Question Number : 17 Question Id : 51714413258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Rapport development is a communication skill that focuses on building and
maintaining __through effective communication.
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Options :
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SIe30d AI02IOTIEW

Membership
, x VB0

Individuality
iS¢ e
- 2£5e5 20
Independence
4% 2250250

Question Number : 18 Question Id : 51714413259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Business transactions, salary benefits and partnership deals

happen through proper__skills.
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crises management

w, “
L% DOEre NG e

time management
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Question Number : 19 Question Id : 51714413260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Being in communication helps in people being acknowledge and appreciated.
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Options :

Courageous
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Courteous
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Passive
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Question Number : 20 Question Id : 51714413261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

To establish tfrust among teammates, one needs to he
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Options :
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broadminded
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transparent
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grateful
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Question Number : 21 Question Id : 51714413262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

5: 150 =3: __
Options :
L= 68
. % 72
78
3. %
36
4.

Question Number : 22 Question Id : 51714413263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two frains are travelling in opposite directions at speeds of 72km/hr and 54 km/hr
respectively. They take 10 seconds to cross each other. If the two trains travelled in the
same directions, then a passenger sitting in the faster train would have crossed the other
train in 24 seconds. The length of the trains, in metres are

Do B SO 7280/0 oo 54 8o Fiod 53808 oIS
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Options :
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230, 120
4.

Question Number : 23 Question Id : 51714413264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Gopi invested a sum of Rs. 42,500 at a certain rate of simple interest. He finds that the
interest payable to him by the bank increases by Rs. 55,250 when the rate of simple
interest is increased by 10 percentage points. Find the period of investment.

AfS 6°.42,500 Bndinid Eo8 Srprdes 56 Sms® Depabre DT, Foede; HE0D

10 a0 arowoty BABD wrgold owoe @Eh8 IDowrE)d 56% %:.55,250
2BIEOB HBoTRth Pl srerd)) EHATS0E.
Options :
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can not be determined
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Question Number : 24 Question Id : 51714413265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Saroja has successfully divided a number N, 3 times by the least number X which
when divided by 8, 5, 4 leaves reminders of 1, 2 and 3 respectively. The reminder
when the same number is divided by 49 is
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Options :
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canot be determined
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Question Number : 25 Question Id : 51714413266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The standard deviation of the observations 8,12, 4 16, 20, 28, 32, 24, 36, 44, and
40 is

8.12,4 16, 20, 28, 32, 24, 36, 44 .00 40 HBYeS Q308 B0

Ddedsin

Options :

Question Number : 26 Question Id : 51714413267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certain language if BRIEF is coded as 17 and CLOCK is coded as 29, then the code for TSSET in that
language is

&8 DY grd® BRIEF & 17re, CLOCK & 29re 8% Johadd el

oograd® TSSET & &6

Options :

25
1. #®

37
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47
3. %

34
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Question Number : 27 Question Id : 51714413268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of



Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The odd one among the following numbers is
% Bob 78S HBed D08y

Options :

65
1. #

91
2. %

104
3. %

142
4.

Question Number : 28 Question Id : 51714413269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Statements: Some rings are circles
No circle is a square

(PHSTren 1 B dodiren Hmmen
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Conclusions: |. No ring is a Square
Il. All rings are squares
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Options :
| is true and Il is false
| a;{n;j F0Baso [l és’ga
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Both | and Il are true
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2. %
| is false and Il is false
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3.

Both |and Il are false
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Question Number : 29 Question Id : 51714413270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



In the following missing group of letters
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Options :
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Question Number : 30 Question Id : 51714413271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following diagrams represents the relation among Musicians,
Instrumentalist and Violinists ?
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Sub-Section Number : 4
Sub-Section Id : 517144542
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714413272 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)
Question Label : Comprehension

Note: Answer the questions 31 to 35 based on the data provided below.
HeDNE: OHNS @o0HONS ST0Fsn eSO 31 A0G 35 (D) O HAFTTren Tohod,
The following table represents public sector outlay ( in percentage)
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SNo Plan Agriculture | Energy | Industry | Others
0T DE SIS EOW 48 DHOIFS | =esS

1 Fourth Plan =€) (2e @4 20 25 10 45

2 Fifth Plan &6 |se7 @3 20 20 25 35

3 Sixth Plan esded e @ 25 30 15 30

4 Seventh Plan 0% (e P 25 30 12 33

Sub questions

Question Number : 31 Question Id : 51714413273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
During the 5% plan 65% of the amount spent in the Agriculture sector was through private
investment. If the private investment was 5.200 crores, The total outlay of the 5 plan is
58 |DETDES S1drroh dofos i) TAS Do’ 65% R DEPDSA 00 20805,
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Options :

8.000

24,000



40,000
3.

32,000
4. %

Question Number : 32 Question Id : 51714413274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

5% plan and around 1 lakh cr in the 6% plan. The

Public sector outlay was 40.000 cr in the
percentage increase in the amount spent towards Energy sector from the 5% plan to 6% plan is
15806 s SO S5O0 55 (DT DES’ 40,000 ECD SHOAD 665 (DEFDES’ 0SSP 1 ©F Few. 55

o A, £ o £ =, W ; -
e, D0A 605 (DT PE 55% 208 SomdE i) TS Fndods HHOe Tdo

Options :

40%
1. %

380%
2. %

275%
3.9

26%
4. %
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In 7% plan, the amount spent towards industry was 26.400 cr. The amount spent towards
transport and communication. if it was 40% of others, is

75 |HeFDES HBES 550 BA0DS Bneo 26400 §EW. Sarer HBCKD EriDBAS §0

@
o

) ThHd Twdo. 0 aaderd 10% wons

Options :

29.000
1.+

22,000
2. %

88.000



43.000
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Out of the four sectors given. how many sectors showed a consistent trend ( increase or
decrease) in the allocation between the 4™ plan and seventh plan.

<6 o, £ L o, o, = A 5 .
2D TNl oo, 48 (HErPE HOAD ¢ (HDFDE D TEronoD S D) domren

REDS E3eI udoihde Bor éde) drdoron

Options :

0
1.+

1
2. %

2
3. %

3
4. ®
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During the 4% plan and 7™ plan. the total public sector outlay was 16,000 cr and 2.2 Lakh cr
respectively. The percentage increase in deployment of funds was the maximum for which of

the following sectors from the 4 plan to seventh plan?

485 |HeTDE B0 75 (HeTPES’ Bdo 1DHE0es s B0k H0H0 ST 16,000 §EW HOAED 2.2

= o

©F e 50 45 |HeTPE oG DBS DT PE 5% Bod 2 SomdE e NS Teho KBNOM™

fe

WORCSHT

Options :
Acgriculture

L v sifsEglevilel
Energy
1

2.

®



Industry

J‘\ A, “\
3 % @0@E

Both Agriculture and Industry

D537 r0H0 0O HOFen Todr

4, %
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A Byte is made up of
Be5 edre
Options :
4 bits

8 bits

12 bits

16 bits
4. %
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HTML Stands for ........
e BhE 0f @dre

Options :

Hyper Text Markup Language
00 85 &56) oo ePOTIgE

Hyper Text Makeup Language
56 E% hEeD EJDOF%DQJEE

High Text Markup Language
7 85) 5rb) ©b eroriE

3 @



High Text Markup Location
7 8§) &rf) 05 &S5S
4, %
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A web based graphical environment on computer networks is
38 oprdd Boirstb 3858 BgreHer Slopvalelhaw

Options :

Wide World Web
36 55 3

World Width Web
558 O 36

World Wide Webb
558 36 35

World Wide Web

, o 358 36 35
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E- Pathshala is the platform of which organisation?
a- FrEFes® BIHS Soges® 38 J6%

Options :
CBSE

) NCERT

MHRD

. KVS
4. 8
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The purpose of ICT use in educationisto .........
8]&656‘5 ooé s ﬁ@%&"m

Options :
Attract students
| x Dugthed «sfodhe

Make teaching interesting

. S5 sd88ore Joine
2.

Optimize learning outcomes

3 o7 POEeih eEreNthHe

Promote technology culture in teaching
L% 55608 JroBBY Sl Y [@fsmirohts
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Which of the following is/are the UNDP Sustainable Development Goals?
% Bod 08 06/0D 8 oD osgen

Options :

Quality education

L rijsavééé éfjtﬁns

Gender equalities
, % Do ézﬁjva‘ééoga‘m

Quality education and Gender qualities
:‘1}&:;%5&5 Dy soBASn Borl &HrSEo

Quantity Education

é&é:ﬂmﬂé@é Lig
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One of the anthropogenic sources of gaseous pollutants chloroflucrocarbons
(CFCs)inairis..............
DS 2.8 HrsS ey arciusrensyy B8 st S5)( CFCs) @ng) $5%

Options :



Cement industry

. @ehotn HOED
1.

Fertilizer industry

S HEED
2. %

Foam industry
§ha0 DB
3. ¢

Pesticide industry
sndorshodhe H5E
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Global warming can be contfrolled by ..................
(BHotargione 53&&&}5} S8 Gore NoHolBowleii
Options :

Increasing deforestation, reducing efficiency of energy usage
e QBen Dohe ooe, 48 éi”o’}(ﬁj‘?ﬁ‘%“'é}[}gg@c}_ &hoher Tegoe

1. %
Increasing deforestation, slowing down the growth of human population
5 & = :
. @£33) g\}éﬁéﬁﬁé 20tHe) TP, PR ﬁmavéy@ é@oiﬁaé& apNel
Reducing deforestation, increasing the use of fossil fuel
639 K)tﬁ:tgeaé éﬁozﬁjéa tqoe, Bewes mOFN0 0 Toe
3. %
Reducing deforestation, cutting down the use of fossil fuel
©E8) g.flé:“éﬁ)?ﬁ e‘éﬁoﬁjéa oo, Bere: moddo srEEo e‘ﬁﬁoiﬁj&) Cyqo°
4.

Question Number : 44 Question Id : 51714413286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main composition of biogasis ..........
DR Sngy i)

Options :



Methane

1. v DTS
Carbon dioxide
St alon A
2. %
Nitrogen
SN
3. %
Hydrogen
B
4. ®
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The United Nations Framework Convention on Climate Change is also
known as......

TErdts SrtnD oIBE JUT) 55355 S & DPore P @okrdh

Options :
Kyoto Protocol
B&5® [@EePeed
1. %
Vienna Convention
- DaHawy éSEB’gﬂE
Earth Summit
goe [DaneS
3. ¢
None of these
250 =D
4, %
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Which of the following is/are writings of Chanakya?
& 61D S8 2D oreanlind) Siiden

Options :



Arthashastra
@éaﬁm
[n]

Ashtadhayayi
@%{;}0505}3

Rajatarangini
orassiioRd

3. %

All of the above
25D
P B
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The First Commission for Higher Education in post-independence period in India was
headed by.......c..........
%ﬂ;ﬁe‘ﬁolégo EBars sceodd DB &inE Do g SngrgHsed

Options :

Maulana Abdul Kalam Azad

o @apd Serin e@sed
1. ® 5

3. Radhakrishnan

-~ . UGQD@%E

D.S. Kothari
3 % &. on. BB

None of the above

2 0% 508
4. % =
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Which is the most appropriate method to teach vocational skills to students?
Derghord d 58 SPdegmend FHoher b DERD [HIwDS HPS
Options :

Role play
Lx B8R



Discussion
B3

Experimentation
25y 280855
3. ¢

Demonstration
B5rS @gmﬁ
4, ®
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National Education Policy 2020 recommends ..............
80D Hurg Dprisdn 2020 Harsidh DADHG

Options :

Multilingualism

L 20erEn, DN

Monolingualism
o8 P Dprddm
2. %

Standardization of curriculum
5 % FOF0S (et

Standardization of assessment

20805 @aeﬁm%gdm
4, ®
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International Environmental Education Programme (IEEP) has been launched by .........
@oéﬁgécﬁj 20egRses ST Svdél‘éemm (IEEP) E’}frg Bl

Options :

ULO
1. %

UNO



UNICEF

3. %

UNESCO
4. &
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Given the values of Change in K/L = 0.5, K/L is=1, Change in MRTS 1k = 0.25 and
Elasticity of factor substitution = 1. What is the value of MRTS k?
KL &8 a8y Dewd = 0.9, KL is=1, MRTSx &b sty = 0.25 s0bcin =288 @’3@%5@6

5850 = 1, MRTSx Dend dod ?

Options :
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Which of the following is NOT a plant size in relation to Sylos-Labini mode! of limit
price?

1Bob 7B b6 HED - &eDHD HOME B HrarH Homohod al éo@ (plant) 553mmo
55 7?

Options :



1000 units
» 1000 ciordéy

5000 units
5000 chrdén

8000 units
8000 chr®in

100 units
4 % 100 ciedéy
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Given the saving function S= -200 +0.25Y, at what level of income (), the saving
curve intersect the X axis?
sax@bs EPE) Soo S=-200 +0.25Y, 2 ewrdh apow (Y) HE &6 B X

w5l vofihnodh?

Options :

Rs 400
| % 400 &rarahen

Rs 1200

, % 1200 Srarcben

Rs 600
3 % 600 Grarahen

Rs 800

4 800 &rarahen

Question Number : 54 Question Id : 51714413296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

According to the loanable funds theory of interest rate, there is an inverse
relationship between the rate of interest and:
aweE)s dibeo $E0 Depodo [HseBo HETED Db Bod o868 B8 B H&%H

Somotio Gotnob.
Options :

Disinvestment
ﬁjémma:& PP T e raile o]



Hoarding

" c\f{]ﬁ}“ ExTatay) dexenre EohEsta

Saving

3. ® Epeid

Bank credit

o 24 w .,
4 % ergot) S5
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There are A and B events which are independent. The probabilities of events A and
B can happen are 0.05 and 0.02 respectively. What is the probability of
simultaneous occurrence of A and B events?

A 506a5n B 90th fi¥olB3h wogren. Aban B @ozren HodiDoderd8d (happen )

Ko Bogregd Shdre 0.05 Hbain 0.02. A Hbdain B (events ) sozren 8. 8716
HodDodirdd Ke Hogrsgd Jod ?

Options :
1.« 0.001

, % 0.007

0.003

4 x 0010
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Which of the following test of goodness of fitis NOT based on the assumption that
the sample means are normally distributed?
Bob TS HO50E° DB BHES5HS Britwen FErsore( normally) Hobd Schadmron

e Lééodﬁno":._) mpetatss 7
Options :

Parametric test
| argora|®8 HOF

Z test

- e



F test

- R
Chi- square test
8 - b 985
4.
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The fourth derivative of the function X= 3y6+ 4y + 5 is:
abato X=3)f+4y+5 Ging) res oo ( derivative)

Options :
| = 2160y

2

, » 1080y
4

, % 360y

, % 540y
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An equation involving derivative/s of the dependent variable with respect to
independent variable is called as:
ool Seromdd Somohod wrrd SoroX edfomredl Xpd dob ﬁﬁbﬁfﬁe&mf{g;} 50580

ol Denarh?

Options :

Integral equation
| % =oBAS 5instmo

Simultaneous equation

) % 2HSBIEHS BiBBeo

Differential equation
5 @ G¥BQE0S Bdoswmo

Difference equation

4% 558 HnEsmo
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Which of the following model of international trade has taken into account three
factor, two goods, two countries along with neo-classical production function?
Bod o8E° O wodScedah 58 Sfrae 58 SroHurad )8 Heos® artn Frh seseen,

Both snajen, Jo Garen SbHnRdis &gos?

Options :

Specific factors model

L 58s8 (specific) s*8sre Somar

Effective factors model

et ( effective) srtisre Deae
2. % "‘j

Relative factors model

3 % FDY, TTe SHrTe

Commoean factors model
g % TOn iEe SHrae
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The 12™ Ministerial conference of WTO was held from:
WTO @n¥) 125 Holghe :T:EG)J HErEaY0 m“}eﬂ 2o ﬁ)?ﬁ’)&‘;\‘fj HBEE 2=20R06 7

Options :

July 12'"- 15" 2023
12 228 ool 15 ==8 2023 585

June 121" 17" 2022
12 o= ool 17 =2=5 2022 5855

June 12" -19", 2021
amd 12 fod 19 225 2021 H5

3. 8
August 12" -16" 2023
4 % 12 @HF?; ool 16 a_saﬁce'f_g 2023 58%
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In relation to public goods, free rider problem arises when every individual in the
society would like to enjoy the henefit of a commodity:
Hireos® (D858 Bob B8 TR dobbo weor B8 ShHe Dol [HaAreo

FrowreiHod [3BE6 Sy S8&Eob 7
Options :

without paying the price

55 BhoSEE
1.

by paying more and consuming more

. ai‘o&a‘; Dhoddo shbdin 5::533_{} HO@rhodio
2.

by strictly sharing the cost

- mﬁ)‘jéonc' éédi]va’a FBodéo

By paying more and consuming less
B3 dPodio Hbdcin EEN DOTrAOBEIO
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In which one of the following taxes the impact and incidence will be on different
persons?
|Bo& K}ﬁgpéﬁ AL Sy GnE) ebodf o Hbdin woBhgrto 33553 HEeD Gotran ?

Options :
Property tax
L% ey SRy)
Income tax
) % esrEaho Eﬁ{‘fﬁ&
Wealth tax
P08 BHan
3 % =8

Value added tax

Densd HoBODH B
g VIV POV O
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The hypothetical currency deposit ratio is 0.40 and the reserve deposit ratio is 0.30.
The value of money multiplier is:
ﬁsﬁﬁééé 56:% &araes Qs® 0.40 obaso 6&5{:} Gar2é5 D5p& 0.30 . (5e%  roes¥o
Dend Jos 7
Options :

| % 050
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As per the proposals of the working group on Money Supply, Analytics and
Methodology of Compilation (chaired by Dr Y. V. Reddy-1998) NM2 refers to:

2 $HdD, 2XDAT) Hbc DFrreR @ BopBAS (FES ©.3.0.8§- 1998 ) i
S8)oh (Hrh (Heartde [Hseto NM2 edme!
Options :

Non-banking financial institution
L% aroBonEs & 08

Broad monetary aggregate
DY B (B3 DB Besmio

Intermediate monetary aggregate
aobf)Eahed Srded AT

New commercial bank
s atc%afd ety
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In relation to 17 sustainable development goals, goal number 13 is:
17 5ol ogge Sonohod, 135 oo 267

Options :

Life below water

L% B9 88 =06



Climate action

BT aspex
- BabeT osrER

Quality education
é}é’&&ﬁéﬁ Erdd gy

Sustainable cities

L % S Rowdans 585
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Which of the following is the fourth stage of Rostow’s stages of growth theory?
55% Gn¥) B S0 brposo (Hsebo Tred BE 26 ?

Options :

Drive to maturity

| v B &0 Suirgpd

Age of High mass consumption

) % NGRS S 55&30@5

Take- off stage

E - E3.E
3 5 éu ) &

Age of social security and welfare

aE =h TN %‘J&Wé&*ﬁ ahok IHG
4. % o
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Which of the following is a component of non-use value of a natural resource?
Bot B DB el Hiresith TN GHAFNSS eSS’ .8 grro ?

Options :

Direct use value
L% (2358 eaamher Dend

Indirect use value
6% endrhee Dend

optional value

3 % -&?@‘Scﬁ Dend



Bequest value

arSE ( Bequest) Dend
4.9
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Given the imaginary values of the number of live births in a population during the
year 2022 was 300 and the total mid- year population in 2022 was 1,50,000. the
crude birth rate in 2022 was:

a:f):}mdzé &6&"}5&%5 Dende |HseBo, 20225 éoéﬁ%?ﬁoéﬁ psaTeadd @Uwoﬁi‘ adoe Sogg 300

Sobdio 20228 ‘éoéﬁi@,eﬁoéﬁ o“aa[:ﬁ; éoa‘;e’%d (mid- yearje=arge dndo 1,560,000, 20225
BonEBoS® Snes (crude) edare Bén Jos |

Options :

Lv 2

, % 0.002
;% 20

, = 002
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The estimated production of food grains production (in million tonnes ) in India for
the year 2022-23 as per the third advance estimate was around:
2022-235 Eﬁoéé&m{(}ﬁ ey arlEnSod? Soees Swotsih woiiore [Psefo woiae Fabods

@8 prarge 688 (E0OHADHI mm&@éﬁ) Fosmtore
Options :

318
1. ®

265

331
3.

356
4. ®
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The foreign trade policy 2023 of India is based on the principles of:
FEE0E 988 5885 derdo 2023, SrEee ( principles) D srEhé &o6?

Options :

Creating conducive environment for importers
- BHDE rhed [HPenirEl aretstnrd) PRoito

Trust and Partnership with exporters
O rthes Eéajjééo 0650 aﬂﬁ%“éﬁjéo

Not to impose tariff on imports and remove quantitative restrictions on exports
Brohde P osten Dhodhore Hbdn Jrbdeen HODrEEE Adbo(Bnen

3. % &ohotito

Gradual increase in subsidies to exporters
4 % ADDHS THeD [Ede $f)fen Dodbo
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Which of the following statements are true?
Bob amgagod® DD ai)?

a) Convex iso-quant indicates that the two factors are perfect substitutes
Botdh s=8zren éo?{?g @’:@gﬁ)&dﬁ)ﬂ&n @l farerdd HoorseSorr Soh éar-'én‘g B
SRS eI

b) Slope of iso-cost line indicates the relative price ratio of factors of production
¥ $0h0p G sren GEB s Fng §8 DD Krdikob

c) Points on expansion path indicates least cost input combinations related to
same level of output
2.8 apon 6#)88 Somofod BJY Hiah eensy Hinordired JSe Hio 3 &0
Bothshen Srdaron.

c) Area between the two ridge lines indicates economic region of production
B0t 6E3pe D &) Frodo, GEE @) e (@roseRy ( region ) ErIob

Options:

aofEen:

Options :

a and c only
| % @ bk € SmEd

b and c only
b Sbato € s

a and d only

2 % abain d SmEh



b and d only
L b Hbcn d SeEd
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Which of the following statements are NOT true in relation to cross efasticity?

Lol te] @5551'5@3335 Homofod |Bod a‘g&)egﬂ)diﬁ 28 ey 5ot ?

a) Price cross elasticity is used to measure the degree of substitutability of products of any

two firms
Toth Hoge GnE) Do e [HSEH0 EINR Foitrdl §8 88t aElSe=)
GHEPARE

b) If the products of two firms are perfect substitutes, the price cross elasticity value
approaches to infinite i
Soth doge dnt) S5Hen Sory (B airsa §5 erdost axEiSEn Dend widosds

DHSHEod

c) If the products of two firms are differentiated and cannot be substituted for one another,
then the value of price cross elasticity may be less than zero
Both Hoge Siier SN SOA ol HBH 2.8 08 2% odd (FHBRESS Saherds
Den DEDE 55 e5088 amElSE Eridgo( ZEI0) BoB SXsme dotnod

d) The higher the value of quantity cross elasticity, the weaker the interdependence of the two
firms’ products
FSTaTn e es“éééoééd ac\qgﬁﬁﬁéﬂgo Dens afagfa’jrﬁu Go®, ot éoé@@ Srose 536‘:6;,6 earrebhes
aoiEdor Gotnod
Options:
aobden:

Options :

a, b and d only

| % @b HBat d s

b, cand d only
, % D, C b d SmEED

c and d only

3Jcmacﬁnda’aﬁéﬁz

a, b and c only
4 % @b HBcn ¢ SeEd
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Which of the following statements are true in relation to an increase in money supply in
classical range of |5-LM analysis?
IS-LM aé.ﬁméﬁa‘a sehEs Dosab (5535 ‘n’i;}écﬁaﬁﬁ 2ol Sonobod) 8ok wega)g@éﬁ 28 a.a3)?
a) ltleads to an increase in rate of interest and level of income
©b S50 by ewrdhos® BHHEEH T6Sios

b) Itleads to a fall in rate of interest
©b 56060 SATESEFDE B0t
c) ltleads to a rise in level of income
ob swrdbiron DENHELD o806
d) It leads to shift the LM curve left to the LM curve which already exists
©b, LM Oy, ads 68 LM B9 I&EHTHH Stetrds arodiod
Options:
aoBEen:

Options :

b and d only

| x b oBa dsmED

a and c only
, % @ Baf ¢ HrEd

a and b only

J s 8005 b e

b and c only
4 & b 0Bcm ¢ Sorlgiah
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Which of the following statements are NOT true in relation to Keynesian consumption
function?

ﬁﬁn} GnE) HAGTEH PerD8 Homodod |Bob aﬂgméuéﬁ A} ad)) s°t?
a) The slope of consumption function decreases as income increases
wordho 2EMEr So08 DDERK Hoo Eﬁ]ﬂﬁé aren ér‘{ij)é)o&
b) There is no intercept to Keynesian consumption function
55& @) DAT PP aoﬁ}E?\‘)% ( intercept ) &oXth
c) In Keynesian consumption function equation, the autonomaus consumption is assumed to
be equal to zero
35) GwE) DAGrRDe HiEseod® Hubo (HBS DAGEPKo Wand BIrESorT ool
(Babaho Babeo ebRoH
d) In Keynesian consumption function it is assumed that MPC =APC
Garod DIEPES (BB, Hikn DIGFK (HHE 508 KNS GoknoBd) BF) @n¥) DGR
Seodt {_.:"JE‘EJ@SJD dchto =BRcd
Options:
wodEen:
Options :
b, cand d only

| o D C @0 d Se|ad



a, cand d only
) % @, ¢ Hdaw dHrED

b and ¢ only
3 # b sbbdiw C sSoo|#ad

a, b, candd
4 % @b c bcind
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Which of the following statements are NOT true?
£s |Bod a:gsp;@éﬁ 29 2.3 ?
a) In a symmetrical distribution Median=Made only
s ( symmetrical ) HobB® SogEo —arimEto SrEdD
b) In asymmetrical distribution Mode= 3 Median- 2Mean
@@5’&&5 ( asymmedtrical ) sobdéd ariogto=3 é}fﬁéﬁéo -2 @oéé&i&gﬁm
c) In asymmetrical distribution Mean= Mode- Median
oy ( asymmetrical ) SobhBE® oo = arsmgto - g0
Options:
sohEen;
Options :
b and ¢ only
| % b Podm cSmEdh

a and c only
) « 8B ¢ SrBD

a only

, x @smEd

a and b only

L% @ HBat b S
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Which of the following statements are true?
Bob argages® DD ey ?
a) An example of the non-linear trend is the second degree parabola
HEEoTeEs S5HB8 Goritn Sois &R Soedeaio ( parabola)
b) For measuring the secular trend, a second degree equation may be an appropriate model
é:qﬂﬁbsmﬁlﬁ E8580 Pedird8 Boks &,Lﬁ B8nE8mo BEnoE Shvaerr TSy
c) A simple method to assess the appropriateness of straight line model is the method of first
differences
%8¢ Dy SSoroe @nY) SEndEeY) wodte Jabirdd ol heS $¢8 Insdtoe H58
( method of first differences)
d) Gompertz curve is an example of growth curve
ﬁﬁoéaé 5’3{_5333 @%ﬂaﬁb ¥ aorderto
Options:

QonBen!
Options :

b, cand d only
1% b, ¢ 08 d Sr(Esh

a, candd only

a, ¢ $basn d s
2. %

a. b candd
3 « a,Db, ¢ obdind

a, band c only
4 % 8 bdoi ¢ HrE
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Which of the following statements are true?

Bo& aﬁneg&g@efiﬁ aa) 2uay) ?

a) t-distribution is called student’s distribution
t-50HB0 SpRot] Hobd ©f heoarth

b) t-distribution is used when sample size is 30 or less and the population standard deviation
is known

Fgo53S B0 30 85 wo#Xod B s0bcin FHTES PrSrdE Dfedo BRI
t- $500dD &5BPATH
¢) The variable t-distribution ranges from minus infinity to plus infinity
toDhd Serod awﬂ?:_} ameaﬂééﬁ wRHodo Sob émééﬁ edodo S8% dotnoh
Options:
soBEen:
Options :
aand c only
| & @ 5Bd5n ¢ SrED

a, band c only
, @b bako C Srigab



a only
;% @ SmED

b and c only

4, % b 0Bain c S
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Which of the following statements are true in relation to Cartel form of collusive oligopoly?
2,808 B Ho&nE %ﬂé&‘)}go @) Tgéﬂj Hozobod |Bod 5“5&15&55 oD 2. ?
a) The eqyilibrium price in cartel is like price in perfect competition
SEEE 158 Sogrg PES 658 el Sotnod
b) Central agency is the highest decision making body in a cartel
svgp’j_éﬁ Elel(50H Ejaig:, LS &)Qdﬁ:ﬂ@?tﬁo DA Gotnod
c) Each firm operating in the cartel can enjoy the total profit it earns
sugééﬁ E“éﬂ“rbéaeé& @’)Eﬁé@% Lot @got“ué Fwndo ergreih © K\ofoa ©gDouHEy)
d) Each firm in cartel will get equal share in total output to be produced by the cartel
556 GEBTATrONHDT Indo GHES SESEN (HE Koy BEES FrH SrothEod
Options:
amohEen;
Options :

a b candd
1 # a,b, cshbdin d

c and d only
7. % Cabboind

b, c and d only

b, ¢ obcho d Smeah
3. %

a and b only

4 o @ 605 b smE
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Read the following statements in relation to Liquidity preference theory of interest rate:
[5‘.555593"5@63{) éé Btn Homohodid (Bob argEgeRD SeHEpan:
a) The slope of transaction demand curve for money is positive
a@&ﬂﬁ Sgpsfore (853 Bsrob T aren émé&éom &otnod
b) The slope of precautionary demand curve for money is negative
S0oth e(ig (5 Asrol Ty aren angrE)ore 6otnod

c) There is an inverse relationship between interest rate and bond price
S8 BiotH Hbatn arod 5 DE%H Somoiso tokuod

d) Speculative demand for money is income elastic
©OST TNErS (5 Brol emrdh agEley)) 5O Gotnod
Which of the above given statements are NOT true?
Bl mﬂa)é"@éﬁ )3 aaEPt?
Options :
a, c and d only

| w 8 C &b d Sr|gad

b and d only
) @ b Hban d SrEdD

a b candd
3 % a, b, chbdin d

a and d only
4 % @ S0Bdim d dmiEsh
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Which of the following statements are NOT true in relation to Sets?
"f‘oéj\)i‘a Somofod |Bob 53“5&15{)@55 k) 2.Eset ?
a) A set which does not contain any element is called void set
a8 5E DOots) DEHFE einod DD aronE( void ) 2 eotrs
b) The two equal sets will have exactly the same elements
Both HErs Difen pYBorr 2.885D 200D EDA Gotran
c) The collection of all sub sets of a set A is called the Universal set of A
25 A G of) taRdod 508 A Gng) drdSRd e beorh
d) Power set of B is denoted by P < (B)
B Ging) 550 25D P <(B) o Srdard
Options:
aJOSEeD ]
Options :

b, c and d only
L% b, ¢ H08dn d HrlEah

a and c only
5 % @Ban ¢ HmED

a, b and c only

a, b Hb6ckn ¢S

3. %



cand d only
4 « C0bdin d SooiEsad
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Which of the following are the assumptions of Leontief input output model?
Bod B DD DAPSED densE G&B Skwar [Hibdiren?
a) There is no technical progress in the economy
@08 HHBE PoBBY B8 Gotid
b) Every industry produces multiple commodities
58 SHED il SoHedH 6&HE Dxod
¢) The production function is linear and homogeneous
ﬁéﬁuﬁ Deo 559@@?@&5 Herdiohesh 5DA Gotnod.
d) There are neither external economies nor diseconomies in production
886 @8 wrren 570 SPurdbsren 570 GolY
Options:
aJOSEED
Options :

b, cand d only

L% b,c Hbdm d SmieEsd

d only
d Smgadh

a, c and d only

, v @ C#bdh d smEsad

aand b only

Lo @ SBaso b Srigh
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Which of the following are the assumptions of Ricardo’s law of comparative advantage?
Bod >&S° DD 65"“'52 G HoTrE [HRred brrofo Gng) (9aDSSmen ?

a) Labour and capital are perfectly mobile within each nation
(58 d¥ostHe (D b Hreddo b KHdded DA Gotran

b) Constant costs of production
f‘:}eﬁoﬁ éegcﬁjow E’gdonﬂ Botron

c) Countries impose tariffs on trade
S0 Daven Hosoi DERoD

d) No technical change
FoBBE HKE Gokh

Options:
aonden:

Options :



a, b and d only
| % a, b $h8c5w dé}'ﬁ@ﬁa

b and d only
,  bInboin dSmEs

b and c only
b 8¢5 ¢ HrEab

a, cand d only
4 % a,c&bdm d i@
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Which of the following statements are NOT true in relation to items in balance of
payments of a nation?
a8 ad Dhozpe 350610 woTe Honofiod |Bob T8 D9 i) =57
a) The sum of the accommodating and autonomous items always equal to (1) one
ﬁ@acuﬁm woFen snbdin Hydho {_ﬁ:@é ©0Fe dngo Qaptd asd (1) & Sdrdore Gotnod
b) ‘Above the ling' items are also called as accommaodating items
‘6&3‘;‘._326’&;0& @OTOND éd}ma?&}} @woTen @olFt
c) The surplus or deficit in balance of payments depends on autonomous items only
Bhospe oS hiben Bur E'n Hyabo (208 woTe P I errshé Gotnob
d) Autonomous items are also called as ‘below the line’ items
frcfo (2268 wozed ' Bolod women  ©d LrE wobr

Options:

aob¥en:
Options :

c and d only

|y © B drEdh

a, b and d only

, v 2bBO dEmED

b and c only
3 % bsobdin ¢ &SmiEah

a,b,candd

4% a,b,csbBdsn d
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Which of the following statemenits related to trade barriers are true?
S8E sboseelh Homofod (Bob aﬂgméﬁéﬁ 28 2 ?
a) Tariff is a price- based measure
Yofo oRb 85 o 155;
b) Tariff restricts the imports by increasing the domestic price of imported goods
BIDHS ToHD She HEd 8 Dosho aroe oso BrHHEeH Aao|Biyod
c) Tariffs discourage consumption of imported goods
Sosren BIHHSE THHI HihHe DGR Aen)sTHtRoD
d) Tariffs encourage the expaorts of domestic goods
Hosren $Bd SihHeo ADHBHeBH @SR,
Options:
aosEen;
Options :

a, b and conly

L a, b $0b6ad%m céﬁ{gﬁéu

b and c only

b S0 ¢ HFED

a and c only
3 % @ BASD ¢ &{Eah

a, cand d only

4 % BC Hobaso d S
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Which of the following statements are true in relation to general Government expenditure?
rortics (98Desy aﬁgdijuﬁ)ﬁ Somofod |Bod auagmgﬂéﬁ 28 2. ?
a) The share of government health expenditure in total health expenditure was less than
34% in 2018-19
2018- 19 &° Fméo 59855@3 é&cﬁaoéﬁ EvaI et {_éai)éoc_\o {Emégr saﬁﬁr‘% 5§cﬁ00 arir 34%
Eo&) 855 6od
b) The share of general government expenditure on health in total expenditure on social
services was around 20 percent in 2019-20
2019- 20 &° Frras Do DOS Indo Sjohos® Jerde (Hahdy 6B Sgabo arer
Posimt 20 % e sob
c) As per the National Health Policy-2017, general government expenditure on health should
be 2.5 percent of GDP by 2025
erdics @Sﬁricg Drdo - 2017 [Hseto, 2025 =88 arrts (98hesy @55('{5 fpafo ﬁ?{;e_}
ddargas® 25% m Gowd
d) General government budgeted expenditure on health sector was more than 2% of GDP in
the financial year 2021-22 (Revised Estimate)
2021 - 22 ( $5802% woaren ) & @5‘5@3 Botion Trgrdes ([B5408s m@@& gpaho 55;@
B8ars8s® 2 % SoB aKH God
Options:
JoSEen:

Options :



a, band conly
| % b B cSwED

a and c only
) % a, sobdin ¢ &U‘J@éé}

b, c and d only

; bbb d S|giab

candd only
4 ® cbain d Srggsh
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Which of the following statements are NOT true in relation to NBFCs?
aﬁgoéoﬁeﬁtﬁ g éoéﬂfﬂ Homohod) (Bok EJ‘E&QS@@E 28 2.8 o ?
a) All NBFCs are not permitted to accept public deposits by the RBI
awﬂo&oﬁeﬁé Qgéoéae:c @@fﬂﬁ) [Beze shol Sardéy wohEboditrds aetfhah 6&5& e;PéoE
OB SBH
b) NBFC is a company registered under the companies act 1952 and engaged in the
business of providing loans
argoBones DKo @08 Somde S¢0 1952 (8ol $TrE O avererd wobod
mé‘%“ﬁoéﬁ &ot Kond

c) As of April 30, 2019 five NBFCs from Telangana (with regional office at Hyderabad) were
permitted to accept public deposits by the RBI
J®S 30.2019 A8 Beorrerd® (Frodch srogwdho FrEdvards?) b amoBonst D¢

éo@@?ﬁu [Bze ol Sardén wobEBoSerdd srshch 6&55 ajﬂéoE @D &E0D06
Options:
aO8IEeD .

Options :

a and c only

| % @ 0bdin ¢ So(@ad

c only
5 % CEmEEED

aand b only

3w %005 b Slsah

b and c only
4 b @B C Se{#aD
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Which of the following statements are true in relation to Balanced growth concept?
Hosbe a@% g5 Somodod |Bod @5535&:6*5 bty 2. ?
a) Balanced growth is a static concept
oo KB% a8 f{}%&ﬂ) FTeRm
b) Balanced growth recognises the significance of economic interdependence of various
sectors/segments of an economy
QQL"' écmﬁgéﬁ& DA Borre gEree @gé éﬂﬁéﬁ}tﬁ = atal] @Da’majg&‘& oD ée)% [gv]arsvialal
c) Rodan viewed the balanced growth in terms of planned industrialization
Brrdsrag arbEinistn trsod® B'aeS Ko®nd Had Sissomrd.
d) Rodan’s idea of balanced growth primarily rests on ‘balance- in- demand approach’ of
balanced growth
B8 Gint) HoHdd B oSS [FEdtorn SoHdE HB Gy ‘TEF)- =8 -
B5rol e|gfs ! D egrssl tod
Options:
aonBen:
Options :

a, band conly
| % ab,bdn c &g

b and c only
-~ b, 5oBdsn ¢ Hr(Eh

a, cand d only
, % @ CEba d SHED

b and d only
4 % b Ibctn d SmEd

Question Number : 88 Question Id : 51714413330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the assumptions of Harrod-Domar growth model?
(Bod @S 2D roel - EErb B S dng) [Badiren ?
a) There is no government intervention in economic activity of an economy
@gﬁ ééégéﬁ&‘a @6@35 Td@ﬁw%@éﬁ @’:-aijéé éﬁﬁéo GoltD
b) Exogenous factors do not influence the growth variables
28rgé sbeen )i Serosred Heddo Tabd
c) The absolute change in saving is equal to the relative change in saving
Sigavey o Dé‘ﬁ}g S8y, rtosyst aﬁ:g SENE Hsrdo
d) Capital -output ratio is constant
Sooeetied &595;@ Dapd %ESOW Gotnod
Options:
sJoiEen:
Options :

a, b,candd
1« a, b, c svHcio d



a and c only
5 % asubain ¢ Sm(e8ah

b and d only

3 w bbb dSrEd

b, c and d only

, % bc 2B dSmE
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Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in relation to Life tables in India?
rtE Gdodt 5] Eﬂ&lé‘;j,& Bomofod) (Bob ajcgmée:eﬁﬁ a8 a,?".g;u?
a) In India, the office of Registrar General & Census Commissioner has been preparing life
tables since 1970-75
1970-75 Hood gristdost 6&@-{55 p58e $0Bcin 2;26{3_5 Easrarste] seogedho 25 éﬁﬁ&@c\jﬁ)
B Dok
) Life table states the probabilities of death and survival rates of hypothetical group of
population at different ages
DDF ScHies™) avgr @) SFELE SHrdte Dmre HBGD &S B SogrdEs
85 886 BdchEyom.
c) Till 1990, in India, life tables were brought out at five year intervals
19905 Sos&Bo 555 grEstsos’ 85 S0 nth HosETeoFErs SSrhITn
d) In India, the life table for the period 2016-20 contains information related to birth and

death rates of population from age 1 to below 80 years
s BEod® 2016-20 sreo 0¥y 85 IHS Hchd 1 Hod 80 Hoddore Kol SE)N

HAhn eorgE cﬁmﬁé 22358 Pbdin Hlore é@a_}fo Honobodi 53‘.09?055& wobiinod.
Options:
aJofEen:
Options :
a and c only

| % aba cSPED

band d only

) % b b d s

a,band conly
3 o a, b S0Bdio :25530@63)

candd only

4@.:5335@; d Smiesh
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Which of the following statements are true in relation to Indian economy?
Eatatst 6‘595 aﬁgaﬁ@t‘o Homohod Bob aﬂgmege_aeﬁﬁ o) 2. ?
a) ‘MyScheme’ is a part of digital public infrastructure in India
E‘S_)ﬁ)gﬁ)' 58 Daod? Aahd [Bgnesy STDE Snenedt o8 gero
b) ‘Bhashini’ is a part of trade policy in India
o) ond risndosio 558 Drrdodd a.¥ grio
c) UMANG is a new scheme for improving agricultural productivity
esmof ( UMANG ) o3 SRarddh GEEEEs DoBrdE &sém-ﬁofm Heess HEEo
Options:
aobEen;

Options :

a and c only
| % anbain ¢ Sm(esah

b and c anly
b HBd%H c s

b only
. b smgEd

a only
a (e
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Assertion (A): In the short run, as the level of output increases beyond a limit, the average
variable cost also increases
BBIRES (A): e srood® w8 BB Wod GEHE Jran BOAS Hkn SBeho Leis
0o

Reason(R): In the short run the law of diminishing returns to scale operates beyond a
level of output in the production process
D (R) grensoos® 685 HBHE a8 Fand ol GE)H oo BOAB BBHHSHBB0D 8803
[FEagers Sr@o edodod

Choose the correct answer:
8BS BErerard) dobs Wasnsn

Options :

Als true and R is true. But R is not the correct reason for A

L% A 2.3y 0bcio Regy s AH R &8 sebwmo s

Als true and R is true. R is the correct reason for A

A 2.3y $006dfm Rag) A% R 8% sbwmo
2. %

Als true but R is false

3 ¥ A ag) =0 R &5



Ais false but R is true

4% A eﬁ@, 5= R am"ga.

Question Number : 92 Question Id : 51714413334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
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Correct Marks : 2 Wrong Marks : 0

Assertion{A): According to Cournot’s first model of duopaly, the elasticity of market
demand at equilibrium level of output is unity
[B&arss (A): 5‘5036 G, S]] By Sfieae [Beeto Hihdtey %é&,@ﬁsm .‘{:g ;ﬁjﬁaﬁ

Aol @égﬁfjéég 258(1) e Sotnod

Reason (R): Both firms follow the MC=MR condition for attaining equilibrium
S (R): ESENVE F58E5erD8 Boo 50‘(8@3

€308 spoho=Garod el DAhHErY) eibibaon
Choose the correct answer:
5B DETEEE) QobE Db
Options :

Ads true and R is true. But R is not the correct reason for A
A agy 08cai» Rad) sV AH R {88 so8mo s7tH

1. %
Ais true and R is true. R is the cormrect reason for A
A r—.;:{gm spBaio R au@,. A% R &88 steo
2.
Ais true but R is false
3 % A &@ =0 R é@
Ais false but R is true
4% A é@, =a R a@g
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Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
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Correct Marks : 2 Wrong Marks : 0
Assertion{A): In relation to Zero sum game, if the pay- off is of market share, each firm
will follow max-min strategy
eSS (A):  drdg 3ndo e Honofod, B =h @b SrGES Tér eand, 58 B0 Hmes)
- 05 TR edeocdroan.
Reason(R): In zero sum game, the loss of pay-off of firm M is equal to the gain of pay-
off of imN
T (R): &rdg Swdo e08® M Sog awd) D w56 Sgo N dof) ang) D 656" edsd egr
(gain A8 Harso
Choose the correct answer:
730 5&3@@&& wobh¥ Dctosn
Options :

Ais true and R is true. But R is not the correct reason for A

L A e.,-@, soboin R &@ =0 A S R &85 5o 5o



Als true and R is true. R is the correct reason for A

5 % A ?u@j SpBcdm Reu&ﬁ:,. A% R B3 seBeo

Als true but R is false

3 % AE.JKQB':.D%R é@

Ais false but R is true

L% A &) sOR ady
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Assertion(A): According to supply side economists, supply side factors will play an
important role in changing the level of employment and output
[ESarESS (A): $HDBY ©bs Fgo |Ps=o, 6o spon $bakn %é&%ﬁ;mﬁﬁ Srtyen
8:05%0B608° SHHBH e (Hed rBDPhRn

Reason (R). According to Arthur Laffer, A cut in tax rate shifts aggregate supply curve
leftward and leads to a rise in employment and output

e (R): @gﬁ 36 Psedo, a’;:ﬁoﬁ&m Bhodbo HoP Hady Hgdo O s D 568
68%A% Db GBS’ HHEeD Toskos

Choose the correct answer:

8B Sarerad) Qobs Dahnsn

Options :

Ais true and R is true. But R is not the correct reason for A
| % A a,@ sobBdin R a;@:.. s AR R 388 so8mo 5ot

Ais true and R is true. R is the comrect reason for A
) % A 2.5y s0Bcio Regy). A® R &08 se8wo

Alis true but R is false
3 A a,@ 50 R é@

Ais false but R is true
4 % A éé\ﬂ} =80 R euo"é&J
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Correct Marks : 2 Wrong Marks : 0



Assertion(A): According to classical quantity theory of money, there is a direct and
proportional relationship between price of individual products and the
variations in money supply
8aresS (A):  Doierad (Bigom8 Drodo (Hsedo, (B BHdel Srtpes Hbaks 38
Brnaye Heth éotéé @% HbBcin wdard Homoio Gotnod
Reason (R): It is assumed in classical quantity theory of money that the economy
operates at full employment level of output in the long run
&S (R): éuébs“e;oﬁﬁ ©0Y 5 BorB S Re 688 pon B SESII0H Sotnot
SolPerad (55oe8 bupodod® [Hibabo Bahtio wBROE
Choose the correct answer:
$BE Brgrard) QohE DakoEn

Options :

Ais true and R is true. But R is not the correct reason for A
A a)@. SpBcso R a@. 50 A% R 388 oo =%

1. %
Als true and R is true. R is the correct reasaon for A
o e ERe =4 é 5
) % A a5 spBain Reay AH R &85 so8wo
Als true but R is false
3 % A &@‘J s=u R éc‘@a

Ais false but R is true
4 A é@. 520 R &@
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Correct Marks : 2 Wrong Marks : 0

Assertion(A): According to permanent income hypothesis | the actual income of some
Households may be less than their permanent income

[EBaRES (A): 288 eurdd B8Eg)N (Pseo, Y Hénoarre @nE) ardd
(actual ) sso=co a6 {ﬁ)}ﬁ& %"'3::65 ssrrdho Bodd éfa@rénﬂ éo:ﬁéxﬁa

Reason (R): According to permanent income hypothesis, the households whose actual
income is less than their permanent income will have negative
transitory income
e (R): T8 esrrch HOEe [FP=rBo.a Bénoare Ging) T8 ewrdbo &b @nE)
e errdbo o8 SEype &0tnofd & Hénozren mmé&ﬁ =Dy
surdied) DA Godron.

Choose the correct answer:
B3I K)&’)JGGPKI"K]& aob¥ Ddknsn

Options :

Ais true and R is true. But R is not the correct reason for A
A a.n‘@;g sobdio R a@.. =0 AD R £08 sofmo 50t
1. %

Ais true and R is true. R is the correct reason for A

- A m?’@ sobdo Ra@,. A% R 588 =obwo



Ads true but R is false

3 % A&éﬁam%R eﬁ@

Ais false but R is true
A ﬁé@ =0 R &Qﬂ
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Correct Marks : 2 Wrong Marks : 0

Assertion(A): In the multinomial distribution there are more than two possible out comes on
each trial
[S8ES (A): @06 (multinomial) Hobdd® (B8 [Habdo ( trial ) & Bod KoB Ay
DDsren Hrow.
Reason (R): When an asymmetric six side dice is rolled, then one can see that there are
six+1 possible outcomes .
&% (R) oHS (asymmetric ) e@d (sides ) end) ardsed 86 dbs
6+1 $Peren ( OUtcOMes ) Saeow.

Choose the correct answer:
$B% BErerad) Qobs Dainsn

Options :

Ads true and R is true. But R is not the correct reason for A

L% A eua‘ﬁa s0Bdim R&Qﬂ,. s A% R &80 sedmo 52

As true and R is true. R is the correct reason for A
A aq) 8cin Rad). A®H R €88 se8eso

Ais true but R is false
3 v A "wa“ém =0 R é&m

Ais false but R is true

L% Aéﬁ@ SUKJRE.,@;,
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Assertion(A). When there is either perfect positive or perfect negative correlation between
the variables X and Y then both the regression lines (X on'Y and Y an X)
coincide each other

(B85S (A): Xshboin Y She Ay n“jo?’.gjﬂg L’.'iﬁjueﬁéé P éo@g mmﬂé&é FEFRoB050

&od) (X & Y Hbam Y s X)Boh (H6K5DS Tmen 250
( coincide) &oéran.

Reason(R): If X and Y variables are independent then the regression lines of X on Y and
Y on X are upward sloping
rehsy (R): X s0bcin Y Seroseen faegBo|E g &o& X 5 Y Sbcm Y S X

L@ﬁé"sﬁéﬁéﬁ&)m 28 o8 Gotrow

Choose the correct answer:
5B SErorard) dob¥ Basnsn
Options :

Ais true and R is true. But R is not the correct reason for A
A eu@:, soBdm R agéﬂj,. A R &85 sofmo =th

Alis true and R is true. R is the comrect reason far A
A a.@j sobdin R aj@ A% R 208 soo

Ais true but R is false
A eua’g;, 50 R é@

Als false but R is true
A é% =0 R eué:g,
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Correct Marks : 2 Wrong Marks : 0

Assertion(A): In general, polynomials of third or higher degree are not fitted to time

series in either arithmetic or logarithmic form
[EHSRES (A): Sors Db wodtod QD A SDAS FDariuchd) wol Sor e=h

brHodd seelEdd? en@rhosth

Reason(R): The reason for assertion is that these curves permit too many changes in
direction and follow the cyclical fluctuations in the data as well as the trend.
sy (R) (HSarssth so6mo, & Open HFS® iy siyen eddBodios) srén,

Be0¥os® artn §PsAE% Sfah IrpBipel eksbarom.
Choose the correct answer:
$BS SErgraed) Qohs Dasnan
Options :

Ais true and R is true. But R is not the correct reason for A
A 2.3y 08cn Ras) ss0ADH R {598 s8eo s°th

Ais true and R is true. R is the correct reason for A

v A ei)) sobain Ragy. AH R 88 so8wmo
2.



As true but R is false

. A 2 =0 R &5
3.

Als false but R is true
A & =0 R sy
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Correct Marks : 2 Wrong Marks : 0

Assertion (A). Linear programming problem is a special type of optimization

Problem
@85S (A): HOaHE BErranoh KEiy wRe af HEEDS GhMHELS Sy,
Reason(R): Inlinear Programming, the conditions: x greater than or equal to zero

and y greater than or equal to zero, are called non-negative constraints.
s (R):  HIcHE (DFreinoRd® X b drigo B0l ¥y B Eraegf Hairdo :nbab
Y &R0 Eriigo Bo& Es Toe %:mag&ﬁ& HErEo on  Daodded
amm“éééétﬁf non-negative) (H&oogsen ( constraints) sodérdh
Choose the correct answer:
SIS é?ﬁ)ﬁm"@&& wob¥ Ddkndn
Options :

Als true and R is true. But R is not the correct reason for A

L Aam"j;g ih8cin R 2l =0 A S R 85 so8mo soth

Ais true and R is true. R is the cormrect reason for A
A aay) 06cio Ragy A®H R &388 sebemo

Als true but R is false
A eu@ =I R ?5?6;,

Ais false but R is true

L x A &g SOR 2y
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Correct Marks : 2 Wrong Marks : 0

Assertion (A). Foreign exchange arbitrage refers to purchase of foreign currency from
where its price is low and sell the same where its price is high
(@BES (A): 968 SrEED shggbsco ( arbitrage ) edmr Bt 565{;3 55 S8 &y
Bﬁ]ﬁﬁéﬁﬂf TORERR el 58 &Jé@ré’arﬁu &;Eﬁcl éﬁﬁ&tﬂi @é)ééao
Reason (R): In foreign exchange market, speculation usually occurs in forward
exchange market
S (R): 283 5855 mﬁgﬁf, #6555 &Jéq}oé é}oﬁge%i Evi e n-Te e 1;}5153515
sthreob.
Choose the correct answer:
5B $SrEraed) Qobl Batosn

Options :



Ais true and R is true. But R is not the correct reason for A
A 2.5 6c Rad) "0 ASH R H08 s8mo 5°th

1.¥
Ais true and R is true. R is the comrect reason for A
= v’.' o =, Ny !‘ '!JD
) n A 2 s0bd%o R 2.8y, A% R {88 s=beo

Ais true but R is false
AadsdR é@

3. %
Ais false but R is true
L% A éog;g 50 R 2.8
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Assertion (A): Special Drawing Right (SDR) has the characteristic of an international
Currency
EaFES (A): (5858 (Growoh S8 @oéo;@cﬁ: 5888 @0t oEmo Goénod

Reason (R): SDR derives its strength from IMF members being willing to use it as a
reserve currency and is backed by gold.
@Y (R): eodwdad (506 H3bgen S8 [Gravoh FrEnei belby Sody™

GH@rhoStrds BERE0 HBdin Tl 38 aorrdo Gotiéo @%é
GromoR e noo DERGHE.
Choose the correct answer:
W8S Sdrgrard) ons Hdosn
Options :

Ais true and R is true. But R is not the correct reason for A
A a..@a s0bdto R au@,. A D R &880 sobeo 5ol

1. %
Ais true and R is true. R is the comrect reason for A
) % A 2.5y spbcin Rad) A®H R 8885 sobio

Als true but R is false
3 A a@, =2 R ééa’ggj

Ais false but R is true

4% A é@ =0 R &@,
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Assertion(A): Gross GST collections in July 2023 were more than 1.60 lakh
crore rupees

[BBFES (A): 28 2023 &° Speorn® Spnse Oy Srdy) 1.60 ofe 8%
Brardbe o8 QEpSme Goom.
Reason(R): The GST council has brought petroleum products under GST
coverage from 1/7/2023
e (R): 1/7/2023 5 008 2aHHH EXN] BN Gagalon & o 35 E) Sy
506E°8 KBy
Choose the correct answer:
$B% Sdrgrard) dobs Basoin
Options :
Ais true and R is true. But R is not the carrect reason for A
A a3 S6ain Rady) e ASH R &85 semo 50

1. %
Ais true and R is true. R is the comrect reason for A
A eua"ga] sobcin R &@,. A% R #08 seeo
2. %
Ais true but R is false
A adp 50 RoéEsy
3 ¥ o) o))
A s false but R is true
A é@ 50 R mf%
4. %
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Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Assertion(A): Transfer of grants to states by the union government based
on the recommendations of Finance Commission is a part of revenue
expenditure of the union government
[EBrSS (A):  ©8Y Hogho (Haartide egroX Sol (Hheo olare 2bb T
[rotn Solts (238héo Gln) Tl a’agdﬁaoeﬁﬁ 2.8 grifo
Reason (R): Interest payments by the union government are a part of capital
expenditure in the budget
oot [R}: Zolg (B5gheso & aﬁ% DoHen a:@eﬁéﬁ Hooeerlds aﬁegcﬁaoéﬁ 2.8 grifo
Choose the correct answer:
$B% Sdrerard) QodbE Baksn

Options :

Ais true and R is true. But R is not the correct reason for A
A agy 0bcin R 2.8 520 A® R &858 sodmo s°tH

1. %
Ais true and R is true. R is the comrect reason for A
) % A aua’gxl obBdio R au@.. A% R {83 so8o

Als true but R is false

3 o Az R é@j



Ais false but R is true

4 % Aéa’gﬁsﬂf\JRa@
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Assertion(A). During the period of inflation the RBI may sell securities in open market.
Eaarsd (A): @55’5&@9& sceod g Besby ems08 adrtor é}@g&"f@ﬁ ?me;@&@é&
@énééi)o&

Reason(R): As a result of purchase of securities by the banking sector
from the RBI, the volume of credit in the economy decreases. So this
measure may effectively control inflation

s (R): arsBoh oo grtd Baby a0l ol ?ﬁ‘.}g&é@éﬁ} goRlen Bahto el
@08 HHHd® HEHS HBRrro SADRKoD. EDE & S8 (BS enErd)
Q @ [4] ] 8 al
éa“ngu")oéorw Dabhol@oD Denod.
Choose the correct answer:
$BS BErrard) dobs Basndn
Options :

Ais true and R is true. But R is not the correct reason for A
A 2.5y s0bcin Redy) 20 AH R 358 s*8wo s°th

1. %
Ads true and R is true. R is the correct reason for A
A a;{qgj sobcin R 9“@5} A% R P8 sedeo
2.9
Ais true but R is false
3 u A ey =R s
Ais false but R is true
4 % A é@ =0 R a;@
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Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Assertion(A). The value of Gini coefficient ranges from 0 to 1
&S (A): 8D rbeaso Dend 0 Hod 1 & Gotnod
Reason(R): The value of Gini coefficient 1 represents perfect equality
and the value 0 represents perfect inequality
) (R): @0 rmso Dend 1 e 608 ob Sory Sirded) Hban 80 rhego
Dend 0 re 08 b QoY eRHrdeE BOAHER0H
Choose the correct answer:
ESTa éa‘mmc'aoﬁ)cl aoSE Ddfosn
Options :

Ais true and R is true. But R is not the correct reason for A

L% A &@‘J s0bcin R aal. 520 ADH R 088 somo 5ot



Ais true and R is true. R i1s the comrect reason for A
A 2.5y s0bcio Rag) A® R 88 se8wmo

2. %

Als true but R is false

A aimn =20 R &
3.% =

A is false but R is true
4 % A éﬁ‘@& =0 R eua’gaj

Question Number : 107 Question Id : 51714413349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Assertion(A): Adam smith considered increase in wealth as an index of
prosperity of a nation
B85S (A): 5056 BHSe 28 BE Farmds Srdr «tHYS S6HdoTH
Reason (R): According to Adam Smith parsimony contribute positively to
increase in wealth through increase in capital accumulation
sy (R): @cﬁﬁ)?&é@ [BiseGo hharbEso ( parsimony ) Sreds Hodchiios® htbie
Teoe H0H6 STEE DEDEeH o Tkob
Choose the correct answer:
$B SErerard) QodE Basnn

Options :

Ais true and R is true. But R is not the correct reason for A
A a,a’gg] sobBdin R &@,. A A®H R £08 somo 57t

1.¢
Ads true and R is true. R is the correct reason for A
. A azy) shbdin R ead)y AH R 0388 s8wo
2.
Ais true but R is false
A euq-:, =0 R &
3. %
A is false but R is true
A é@ 5= R a;@
4. ®

Question Number : 108 Question Id : 51714413350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Assertion{A). The Maternal Mortality Ratio (MMR) is defined as the number
of matermal deaths during a given time period per 100,000 live births.
eSS (A): 28 285 srood’ (Frmo8® HBS (H& 1,00,000 asvren [Hirs Hiere
éom@é) BRrd sobere KJ@?_’%HU Kbtﬁéﬁoiﬁéao =28Rok
Reason (R). Maternal Mortality Ratio in India during 2018-20 was 97
IS (R):  2018-20 srend® grie ot [Beiré Sofere D58 97 e Gob.
Choose the correct answer:
$B% BErgraed) Qo Dasndn

Options :

Ais true and R is true. But R is not the correct reason for A

L A ag) 0bd» Ry 20 A®H R &85 so8mo s°th

Ais true and R is true. R is the comrect reason for A
) ® A aﬁg@ s0obdto Rau@,. A®H R {808 sobwmo

Ais true but R is false
3 % A &?".QQ, =4 R é@

Als false but R is true

4%13.6@ T@R&oﬁm

Question Number : 109 Question Id : 51714413351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Assertion(A): Since 2017-18, in India, the data an Employment and Unemployment
is collected through Periodic Labour Force Survey which is conducted
by the Ministry of Statistics & Programme Implementation
(DEFSS (A): 2017-18 S0 arESASos” ﬁ&ﬁ;}ﬁé 20Ba @&ﬁgﬁéﬁ) Ho®ofodd BEroTR)

( data ) sreriiDes (F00E ¥8 KB omoe DEBRTT®. & SO0 Kerod B
nisre &ihen E’aao{é“aé;}-s‘*a) K)éﬂg&m@o&
Reason(R). The survey period is August to September of next year.
s (R): éﬂlﬁs“e:o @H‘f_g oodl dos SosEto ?\3%0335 2.
Choose the correct answer:
$BS BEreraed) DohY Db
Options :

Ads true and R is true. But R is not the correct reason for A

L% A eun"ja soBdio Ra.@,. DA% R {88 sedmo 52t

As true and R is true. R i1s the comrect reason for A

) % A 2.5y sobao Reagy A% R {88 s=8wo

Ais true but R is false

A ady =0 R &5
3 o) =df)



Ais false but R is true

4% A éﬁﬁ’-@& =0 R a,-@,

Question Number : 110 Question Id : 51714413352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Assertion(A): PM-KISAN is an income support scheme of farmers
(&S5 (A): Hohd - 8arS HPardd o eordd S HEso

Reason(R): Under PM-KISAN, each farmer will be given Rs 6000/ per acre,
per year in two instalments

D) (R): hobhd -80S D580 oroe (8 SPrchmrtig, (8 J8oh, (H8 Dosg)so
Both arontres® 6000 Srarchen BaR.
Choose the correct answer:
08 é&iﬁ“tﬁ"ﬁ“@& DoDHE Dasosn
Options :

Ais true and R is true. But R is not the correct reason for A
A eua’gxl soBdin R eu@.. =0 A B RHOBE sdno s=th

1. %
Ais true and R is true. R is the correct reason for A
) % A a@, sobdin R a@.. A R 808 seBeo

Ais true but R is false

- A&@.L'“KJR é@

Als false but R is true

4$A§@TR}R'¢@

Question Number : 111 Question Id : 51714413353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange in ascending order the following costs assuming that a firm is producing right
to the least average cost point in the short run:
Srensrood® ol Ho B0 Hritn Hgah DothagH HEJHD &8 FIAR0E [Esbano D%,

(Bob Hgairers @8irn [E5Hos® etHn

a) Marginal cost
&arod srdho
b) Average Variable cost

SHEn 5 Hgaho

c) Average cost
Srign Sgabo

Choose the correct answer:
N0R DErEraEd)) sJos Dsnsn

Options :

| & abe



Question Number : 112 Question Id : 51714413354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Arrange the following in descending order based on the value of supply elasticity:
5500 aesElssio Dend egrore (Bob B oBire Eos® eyt
a) Supply curve is parallel to Y axis
B5d® g Y w508 Hirodtorr &ol
b)  Supply curve is like a 45" straight line passing through origin
H5dD B 45" $5E0pe God Hireo K08 BthEod
c)  Supply curve is upward sloping but if we extend it, the lower part of it cut the X axis
dHdw By 28 70 Gotar, oed (Bob grifo X e¥o o Rhdod
Choose the correct answer
$BS Brerard) dobs Baknsn
Options :

L b.c, a

Question Number : 113 Question Id : 51714413355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Arrange the following in ascending order based on number of prices a monopolist

usually charge: )
335%)“:\)5335 ) Sdmen Do 880 Hogy wgrdore Bot 782 @B Qja’no@ﬁ (Ebaleniaey
a) Third degree price discrimination
S A 58 DSBes
b) First degree price discriminatian
Sns® A1B 58 D8e
¢) Second degree price discrimination
Bos A &8 DifEes

Choose the correct answer
5B Bl dobE Dasndn

Options :

L% c,b a



Question Number : 114 Question Id : 51714413356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Given the Investment function I=100 -5i, arrange the level of | in ascending

order at following interest rate (i) values:

aé&m&:ﬁ Eﬁ@ﬁ?ﬂ& Feoo =100 -5i, |Bos aé;m&:ﬁ é@ Béw Dende Eﬁig %}&}gea& EJ;OJJKJ
w8irn (SHod e300

a)d

b) 6

c)3

d)5

Choose the correct option:

$B% Sargraed) Qobs Dasnin

Options :

| % a b, cd

2.\\yb,d,a,c

3 % dcec b a

c,ad b
4. %

Question Number : 115 Question Id : 51714413357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange in descending order the imaginary rate of unemployment as per
Philips curve analysis based on the following rate of wage inflation.
OOy DZe [Heebo, Bobd FED (B enm é&pﬂ&"aié s D8iAer B 038
[Bsoos® @080
a) 6%
b) 0%
c) 10%
d) —1%
Choose the correct answer
¥BE HErrrard) JobE Dahosin

Options :

| = acdb



% c,d b, a
b,a,cd

4.\_yd,b,a,c

Question Number : 116 Question Id : 51714413358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange in ascending order the volume of consumption expenditure + saving
assuming personal income is Rs 1000 and at following personal tax volumes:
385 worabo 1000 drarchen o (Hhabodd (Bob adwds B8K Oy Hodrwre B¢
Peaho + s Hodrereh @b (Eihods® 5Dy Em
a) Rs 200

200 Hrardien

b) Rs 500
500 Brardben

¢) Rs 600
600 Brardiben

d) Rs 300
300 Brardhen

Choose the comect answer
$B HBErErard) dobs Voo

Options :

c,b,da
1.¢

a.deh

3 % b, cad

dab,c
4. %

Question Number : 117 Question Id : 51714413359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following in ascending order based on the values (in general)
of the following:
Bod @ Dend (Frerdmorr) eprdore (Bod B 68%rn (Kod® ehtysn
a) R?
R‘_
b) Adjusted R?
Stertn DS R
c) Perfect negative correlation
ﬁo?@?g anereE MiFhoDoiio
Choose the correct answer
8BS Sdrrard) Qons DASnsm

Options :

1.% ab,ec

c,b a
2. ¢

Question Number : 118 Question Id : 51714413360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange in descending arder the value of index numbers derived (in general ) from a
given set of data by applying the following methods: B
Bob &ﬂgém%ﬁ) &n@rAod a8 (‘{}ga‘é( given data set) & Sero¥o sgrdorr Uva}@é é:rui’.]}@oa)é
Dendsn w5biirn Eibos® @EHE)Em
a) Laspeyre's method
erfyoHhb) ége‘}l
b) Paasche's method
&Fé& bSIn 2]
[
c) Fisher’s Ideal method
256 @t eBlFmed
Choose the correct answer
B8 .‘(sa’jjvt;“an&cl aohE Datosn
Options :

b, ac
1. %



Question Number : 119 Question Id : 51714413361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange in ascending order based on the proportion of items included under
each of the following in a normal distribution:
Srsmig Hobed (normal distribution) &° (8o (58 wd Bod €08 woTe wibardo wgrdore
(Bob =B eb%rn [EHhos® edntyin
a) Arithmetic Mean Plus or Minus Mean Deviation
o8 HFsbo + HEksdH ddedo
b) Arthmetic Mean Plus or Minus Quartile Deviatio
[STe}:] Efn::i_qga’)}o + 561-53{05 Ddedo
c) Arithmetic Mean Plus or Minus standard Deviation
®0¥ MeiEho * (@ErdE Dedo

Choose the correct answer
ST éaﬁjﬂwaﬁa& wobh¥ ddkosdn

Options :

| = Cab

b,ac
4. ¢

Question Number : 120 Question Id : 51714413362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange in descending order the following matrices based on number of elements
in each matrix: i
B85rBES? sod wowe (elements) sgrdorr (Bob SrBEos ©B8rn EHos® ey,

a) 1 x 4 matrix
1 x 4 Smiss
b) 2 x 5 matrix
2 % 5 &m@s
c) 3 x 2 matrix
3 X 2 5om&s
d) 4 x 3 matrix
4 x 3 &
Choose the correct answer
088 Srgrard) Qos B%nso
Options :
L d b,c a

c,d ab
2. %



a,c b, d

b,a,d c

Question Number : 121 Question Id : 51714413363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Arrange the following (related to international monetary system) in chronological order:
Bo& @D ( @Oétﬁ;@cﬁ} (&85 B’qga’)ﬁm)*i) Ho20hoddd) seEdrdarto ©Ey)Em.
a) Beginning of gold standard
&Y |HErmo grdodio
b) Smithsonian agreement
‘R:@Iéfjﬂdﬁmﬁ) a.dotio
¢) Beginning of gold exchange standard
0% Db (Piremo [FBogo
d) Breakdown of the beginning of the Bretton woods system
DS HE) B0 Do ( breakdown) E=dogio
Choose the comrect answer

W08 Dargrard)) aomns Binsn
Options :

d b, ca

acdb
2. T

acbd
3. %

4% b,d a,c

Question Number : 122 Question Id : 51714413364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following conferences of UNCTAD held prior to 1985 in chronological order:
19855 HodEyso SoB ot ebAS (Bod UNCTAD Sirassed soSsrbarto

@Jaﬁjtbt_‘;ﬁl)
a ) Belgrade
BSHE
b) Nairobi
36

c) Santiago
FoBaimR?
d) Manila
spoe
Choose the correct answer
508 Hrerae) Qobs Bohozn

Options :

dacb
1. ®

) % acbd

¢ b da
3.%

b,d a,c

Question Number : 123 Question Id : 51714413365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Arrange the following states in ascending order based on development expenditure
as percentage (2018-21 average) of total expenditure of each state:
Bob 58 orlgio Sn¥) dwdo Kjgcii)oéﬁ @E)&‘)E\)ig fpabo i) FEo (2018 -
21 {ifen) sgrdorr (Bob Trlgpeid 8% B0 eshtnzw
a) Punjab
Hoera
b) Bihar
AT o)
c) Kerala
ElsT
d) Madhya Pradesh
oty BaE
Choose the comrect answer
$BS Srgrard) dobs Dafsn

Options :
da,cb

1. %

b dac
2. %



c,b,d a

4 ac b d

Question Number : 124 Question Id : 51714413366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Arrange in descending arder the fiscal deficit financing compaosition (2018-21 average)
of India general states:
TSRS Arprdes oolapen (general states) D86%w (fiscal deficit) o GriinHd 288
(2018-21 &ew) & ©B585em EiHos® exibysn
a) Public accounts
(Bez=sichen ( Public accounts)
b) Loans from centre
Solfo ol ey
c) Market borrowings
Soec)e5 smeTen
Choose the correct answer
TS K}?ﬁ:ﬂm@&cl aohE Datosn

Options :

Question Number : 125 Question Id : 51714413367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Arrange the following committees related to banking sector in chronological order:
argofoR Sorr8 Homofoid (Bod gsnderd seEsriarso iy

a) Leeladhar Committee
DersE B0

b) Nayak Committee
TechE ool
c) Narasimhan Committee
HE2OSTS S
Choose the correct answer
$BS BirgrarR) QohE Do

Options :



Question Number : 126 Question Id : 51714413368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange in ascending order the following criteria based on corresponding score of each
criterion as adopted by NITI Aayog to prepare Sustainable Development Goals India
Index- 2018:
QBoETDHE ogze FeEE Grd - 2018 I BSEHBAHrIE 98 e@rR ©HKBDS Bobd
Dahdre ( criteria) . (H8Ahio @wE) Hb eerdorr e8%ren [Eos® ity
a) Front runner
(Bot5 5556
b) Performer
335&6@5
c) Achiever
ahHBE
d) Aspirant
AimlyBods
Choose the correct answer
QB c"émmaoacl DohE Dasosn

Options :
| % 8¢, b, d

) % b.d . c a

db,ac
3, o PR

4 % c,a,d b

Question Number : 127 Question Id : 51714413369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Arrange in ascending order the surplus value based on the following values of
rate of surplus value (r) and variable capital (v).

Bob Snirben Dendd Béw () Hobdin SEHresso (V) Dende agrtorr iben Densdin

8% Eos® wshitysn
a) r=0.5and v=10

r=0.5 su6a50 v= 10
b) r=02andv=>5

r=0.2 sobcim v=5
c) r=04andv=15

r=0.4 su6c50 v= 15
d) r=01andv=2

r=0.1 s08¢in v=2
Choose the correct answer
R0E Neirrard) doms Do

Options :

L % c,a b, d

) % acdb
3 % d b,ca

d b ac
4.

Question Number : 128 Question Id : 51714413370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following vears in descending order based on the percentage of 15-59
years age group (as per the report of technical group on population projections for
India and States 2011-2036, MH&FW July-2020) population in total population of India
in the following years:

Bob HodEres® rvsdE Indo amars® 15-59 HSoddore Sdhik S5K8 emer T80
(B85S 55 6S FHBRS (FFEER) ©6 modcir wok ) 2011- 2036, chH&. 35
che tay m=8- 2020056% B==o ) sprtorr (Bod BodEoreih w8 Eﬁ&"woeﬁﬁ
@ﬁadg_:,a’m

a) 2016
b) 2026
c) 2021
d) 2031

Choose the correct answer
$B HErrraed) JobE Dcknsn

Options :

L% c,adb

acbd

d, b, ca
S.J | it B |



b,d,a, c

Question Number : 129 Question Id : 51714413371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Arrange the following schemes related to industrial promaotion in chronological order:
BT (el Konohodd (Bob Hsred srelirdarto wity)Hn
a) National Single window system was announced
J:%6 HoRd Do&” LMD (HEH0DHS ( announced)
b) PM Gati Shakti National Master Plan launched
Dah &4 TIN5 SrKB arS (@rBododod ( launched )
c) National Logistics policy launched
556 @%QE{J srod [Eroflofiod (launched)
Choose the correct answer
ST c‘éaﬂsﬂmva“&& woh¥ Dakoskn
Options :

a b c
1.

Question Number : 130 Question Id : 51714413372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Arrange in ascending order the following crops based on minimum support price
(Rs per quintal) of each crop for 2022-23 Kharif Marketing season:
2022 - 23 985 HrGPOR HaS S (Bobd (H8 Hob Gy EID D §Y BotrsH
Grarchedd) sprborr edir Sobem oo L{ﬁa“noﬁﬁ @&’)JGJJB&B
a) Maize
a8 £
b) Jowar- Hybrid
e - DE
c) Bajra
ﬁ%en
d) Ragi
TeHoED
Choose the correct answer
ST ééjﬂmﬂmﬂ@& Doh¥ Dafosn
Options :

dacb



abdc

a,cb,d

c,dab

Question Number : 131 Question Id : 51714413373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the following quantities with prices based on the assumption equilibrium quantity =
10 units and equilibrium price = Rs &
éé}@"&l; 2bsreso 10 chreddy s0bBdm éﬁ)@’“@g &5 8 Srarahen en @Eﬂ)cﬁ}o [Elnilelela

Bod Hodrmreih o8 EXedEd wadnssn

Quantity
A lats wasTe]

a) Demand price at 8 units
8 grddSe 58 &xrok 56

b) Supply price at 12 units
12 aSoeeSe HY Hadn s
c) Supply price at 6 units
6 afrRefe 5 S5do 58
d) Demand price at 14 units
14 aordefe HS Sarol 58

Options:
EA A ATVl )

Options :

a- v b- 1l c-ll
1. %

) % a- | b- 111 c-ll

a- b- 1V c-l

d-1

d-1l

a- I b-1 ¢V d- 1l

Price (Rs)
55 ( Grarahed®)

1) More than the demand price

Asmob 358 Zod@ QTR
1) More than the supply price

Rado §6 So8 8y
IIl) Less than the supply price

Spdh &Y Sod S5

I'V) Less than the demand price
&srol &Y Eod B
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Match the following:
Bo& 788 et

Price (P) and Marginal Cost (MC) Lerer’s Index of manopoly power
$5 (P) shbdin &arod sigaho (MC) 85,6 dng) o8y 48 o)
a) P=Rs 20 and MC=Rs 10 1)0.40
P= 20 Sraraben s08cin and MC= 10 Srarahen
b) P= Rs 30 and MC= Rs 20 11y 0.20
P= 30 trarahen $HBdm MC= 20 Srardhen
c)P=Rs 10 and MC=Rs 6 Iy 0.33
P= 10 tiearaben s08din MC= 6 trardben
d) P=Rs 15 and MC=Rs 12 Iv) 0.50
P= 15 teardfhen sh8ain MC= 12 tmrardien
Options:
ES VLA oyl Y]
Options :
a- | b- 11 c-lll d- IV
1. %
a-1Iv  b-lll c-l d- 1l
2.
% a- |l b-1V c-ll d- |
4 % a-1l b-1l c-1v d-
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Match the following theories of firm with proponents of each theory
Bob. B0k G deposreid T8 (HHIFBODS HE BEHBHIW

Name of theory Proponent
drroBo 2 [B8artoldartn
a) Managerial enterprise theory 1) W.J.Baumaol
HREB0HS Jotb(RE BB Kep. B. T5rS
b) Sales Revenue maximisation theory 11y O Williamson
D) By BBDEIS H6 £ DDSHIHHS
¢) Managerial discretion theory 1y Cyert and March
Bddbahe BRHBLS 66 RJ§ aiok &rf)
d) Behavioural theory V) R Marris
DrDA0BS £ wb. 5156
Options:
P TR VT ARV )
Options :
a- v b-1 cll d-1l

1.+



a- I b- cli - d-1v

2.
3 % & m b-1v cl d- 1l
L% & I b-1 clv  d-1ll
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By taking into account the basic relationship between change in rate of interest and
its impact on volume of investment, match the following rates of interest with
imaginary volume of investment:

Dépad H6:rmoR Bﬁéﬂ&a}éﬁﬁ Srdipe [Heeaeds Sonofodd ErEinE Honoo egrborr
Bod é@ Bl aimbs esfel Dipad Hosrmro8 a8NsmHEn

Rate of interest Imaginary volume of investment (Rs crores)
SEBED (%) e Dol $68rmo (B srarabed?)
a) 5% 1) 70
b) 4% Iy 40
c) 8% 1y 50
d) 6% V) 20
Options:
erERTEen
Options :

a-Iv b-1l el d-1

a-1  b-1ll cill d-1v
2. %
3¢ @lll b-1 ¢V d-ll
a-1l b-Iv ¢l d-1
4. %
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Match the following values of investment multiplier (K) or marginal propensity
to consume (MPC) with the value of marginal propensity to save (MPS)
Bob "‘u}e:gea& Mo (K) Bor garod DOGE™HN (58 (MPC) Denseo arod §rehab

BB (MPS) Dend & a:sHsHsm

Value of K or MPC

K S MPC Densd

a) k=4

b) MPC=0.90

c) K=5

d) MPC=1
Options:
ETGEERED

Options :

a-1 b-IvV c-lll d-ll
1. ®

a-1I b-1ll cl d-Iv
2. %

3 % & IV b-ll el d- 11

L a-1Iv b-1 cll  d-1l

Value of MPS

MPS Denz

1)0.10
1) 0.20
) 0

IV) 0.25
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Match the following years with gross national income of India at constant prices (2011-12
series) in these years as stated in Economic Survey 2022-23 as part of

statistical appendix:

©0E $0y 2022- 23 & TBYES ©2olFE’ griforr FoHHBIS Bod Hoddorewn wdir
K:uoa"aiéaonenéiﬁ FEEnY K)Jge:n EradiTTEaho {%5 B, 2011-12 @Eﬂ) & meshsn

Year

ﬁoaﬁéﬁ}iﬁo

a) 2019-20 {2”" Revised Estimate)
2019-20 ( Bois) 55608 woidar)

b) 2020-21 (1% Revised Estimate )
2020-21 ( Zo&d 256008 wodar)

c) 2021-22 (Provisional Estimate)
2021-22 {@D@ﬂgﬁ)é o)

d) 2022-23 ('IS‘Advance Estimate)
2022-23 (Fnid Hnodsd eoiiae)

Options:

TR eD

Options :

Gross national income
(Lakh crore rupees approximately)
?ﬁ]ga) et Tovhumatenyle)

( ofe 8% Srarched® Hirhr)
) 154.60

1) 145.00
iy 143.70

V) 133.70



a-l b-Il el d-IV

1. %

) a-lll b-1v  cll d-1
;8 & I b-l clV d- 1l
L% & vV b-1l c d-1
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Match the following items in List-1 with List-11:
D@ 1680 womem S_}E 1l &80 wome&® e85

List -1 List-1l
D5 -l 05 -l
[-5] (4]
a) Lorenz curve 1) Measures absolute dispersion
&Bos B 558, (588 (dispersion) EPesimdo
b) Standard deviation I1) Positional measure
ErErdE D¥edo & Bosiedo ( Positional measure)
c) Range ) Satisfies time reversal test
g8 52008 (time reversal ) $85:5 Sog)l Htoxnod
d) Geometric mean IV) Graphic method
a8 Hiséw By Do HEE
Options:
HSenrareD
Options :

a-lv b-1  cdl d-ll
1. ¢

a-ll b-ll el d-1IV

a-Iv b-1l ¢l d-1
3. %

a-Iv b-1l el d-1l
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Match the following List-1 with List-11:
Bob 9§ -l 6% woTei o5-ll &80 womes® asnsHEn

List-I List-ll
og -l 0g -l
a) Thomas Bayes I) Foundations of probability
Teanh Jowl FonnSg e L@"ﬂeoaw&é
b) A De. Moivre II) Concept of inverse probability
2.8. 3000 S8 o5 2858 DPamdd
c) B. Pascal I) First to describe normal distribution as the limiting form
of the binomial model.
8. S iy Dol Ghos) HBME SHueTere
BrdhdhHd Ssrarid $55oDS s 558
d) AN Kolmogorpv IV) First to develop a theory of Combinations
a.ohs. BlSarisis Eoone horomei) @ﬁ)&’@&a ThE Fnsd a8
[~ o o
Options:
HeTenEareD
Options :
a-Iv  b-1 cll d-1l
1. %
) % a- | b-11 clll d-1Vv
a- |l b-1l oIV d-1
3. ¢
a-lll b-1V ¢l d-1l
4. %
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Match the following List-1 with List-ll
Bod D5 -l 8% eowei OF-Il 6% womres® aEHsHD

List-1 List-ll
o5 -l o5 -l
] [l
a) William Gosset 1) Rediscovered normal distribution
DOEHD reRes TS0y HoHAED BOA B
b) Carl F. Gauss II) The Chi square test was first used
=85, aHB. R B b 5655 InhEntt GBrAoT
c) Karl Pearson [I1) The term regression was first used
=5 Hahb [ [@8rES0 (regression )sioee) Sndandt: &Hd@rRoT
d) Francis Galton V) t-test
RS el 065
Options:
RSTEETEED

Options :



a-lll b-1 cll d-IV
1. %
5 % a-Iv b-1 clll d-1
a-1 b-1l ¢V d-1
3. %
4 a-1v b-1 <l d-11l
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Match the following List-l items with List-ll items:
\Bob 83 - &0 wowedm -l &0 wowes’ wdssHEn

List-l
0y -1
L

a) Diagonal matrix

B Sm@s

b) Identity Matrix
peofd Sr&s

c) Scalar Matrix

Nerb SPBs

d) Null matrix
B S| HE

Options:
HeEpEareD

Options :

a-lll b-1V ¢l

a-ll b-1 ¢V

2.4

a1l b-1l ¢V

3. %

IV b-1 ¢l

4. % &

List-ll
o5 -1l
e
1) A square matrix in which elements in the diagonal

are all 1 and rest are zero
3B 2.8 SHBFHIRBE. HAS EHHSER 0ol ey

1 re @06 aphsed) o)) driore ( Zero) eoérow.

11y A matrix in which all its elements are zero
& Sr@5E% o) HDTot]) Eeisgo( Zeroyr &otron.

[Il) A square matrix in which all its non-diagonail
elements are zero
36 28 3HBEH Sr@s. 608° o) o=5 EabifS Dot Erdzo

( Zero) re Godron.
V) A diagonal matrix in which all its diagonal elements are equal
26 af SArfS SEBS a05HE° dairfd JDFoln) @) SEEdorr
Godam.

d- 1l

d-1l

d- 1

d- 1l
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Correct Marks : 2 Wrong Marks : 0

Match the following years with percentage of general government health expenditure
in GDP
Bod Sos#oremh Spe S4arEE (GDP) & et [H4b# eb S0

08D EdsHEn

Year General government health expenditure
as % of GDP
sodE)so GDPE® s [Ba0es 9555?15 spabo ( o)
a) 2019-20 1)1.3
b) 2020-21 1.4
c) 2015-16 1y 2.1
d) 2022-23 (Budget Estimates) V1.6
2022-23 ( 2 soren)
Options:
SRTGETeD
Options :
a-ll b-IV ¢l d- 1l
1.¢
a1l b-1l clvV  d-1
2.
a- | b-ll eIl d-1Vv
3. %
4 % alv bl -1l d- 1l
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Match the following years with direct tax revenue collected (Rs in lakh crores) in
each year in India
1Bod HosBreH edr Sosdrred® Estdod® HEE Sine o SrDS vad

( o8 8% Brarchen)E asHssn

Year Revenue collected through direct taxes (Rs in lakh crores)
HodEyBo (B Hdne oo $i588 ol (o 8% Srardhod’)
a) 2018-19 1)9.45
by 2019-20 i) 11.38
c) 2020-21 iy 1410
d) 2021-22 V) 10.50
Options:
TG ED
Options :
a- | b-1V c-ll  d-1l
1. %
a- Il b-1 ¢V d-1I



a-ll b-1vV el d-1ll
3. ¢

a-1v b-1  cdll  d-1lI
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Match the following places with year in which the ministerial conferences of WTO were held:
Bob HETeH WTO SHoge row HXmaaren ebAS KSoSHTes’ ashsHn

Place Year
Eddo Hoddso
a) Nairobi 1) 1999
36"
b) Bali 11y 2001
8
c) Seattle Iy 2013
Estenviliolal
d) Doha V) 2015
&
Options:
Heearen
Options :
a-1 b-Well d-l
1. %
a-ll b-11 ¢l d-1v
2.
a-1l b-1V c-lll d-1
3. %
a- IV b-1l e d-1l
4, %
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Match the following services trade of India (exports and imports) with its
value in July 2022/2023:
a8 2022 /202360 rBEEY Do SR (QIHDHS DO BIDHS) oo DenHs®

e oo
Export/import Value (in US billion dollars approximately)
DNDH&/BIDHE Dens( HOHAHS whbse rebod® Hsrhr)

a) Services exports in July 2022 )24
a8 2022 &° Ve AbHHEen

b) Services imports in July 2022 Iy 27
a8 2022 &° Do BHshEen

c) Services exports in July 2023 1y 15
a8 2023 &° Do rbseen

d) services imports in July 2023 V) 14
28 2023 &° e BIHshEen

Options:
HaerrEaren

Options :
a-1 b-IV clll d-1

1. %

a-1 b-1vV c-ll d-1l
2.

a-11 b-1IV clll  d-1

gow @V bl el dl
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Match the following Sustainable Development Goals with goal numbers:
Bob E':}}%U‘Dﬂ'%% OgTON el o¥s0 éomgéﬁ 285850

SDG goal name Goal number
“’mgcﬂ‘@@% oFo o)) eFo Sony
a) Reduced inequalities )15
PSPy o T E‘GQO?’@
b) Responsible consumption and production 1) 10
ergrEeding DN@rNo Hbdin eXd
c) Affordable and Clean energy Hy 12
wothartnd® éod ( Affordable) 5:8c5o éﬂgzﬁlj ROLGNH0
d) Life on Land VY7
aeen oS (&% ( Life on Land)
Options:
ESEN VALY

Options :



a-1l  b-1ll eV d-1
1.+

a- | b-1v el d-1l
2. 8
- a-ll b-1 c-lll d-1v

a-Iv b-Ml el d-ll
4. ®
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Match the following economists with book they authored:
Bob =08 FEe a-th BD0DS (Hogos® ashsHin

MName of Economist
@gé ;%g o)
a) Michael Todaro
DS Feet®

MName of book
[alelnle] 2D

|} Problems of Capital Formation in Under Developed Countries

@@;@é@@ Geredt Sresd Hodabsdo tﬂnﬁg_ é&’)}éﬁm

b) Gurley J.G and E.S.Shaw 1l) Economic Development in the Third World

0. 2.8 5085 =.098.5r
¢) Ragnar Nurkse

sreb Eﬁé@j
d) Don Patinkin

e ards 88

Options:
Selnraren
Options :
a- Il b-ll clIvV d-1
1. %
a-1 b-1vV cll d-1l
2. %
3 ¥ a-1l b-Iv el d-1l
a-Iv b-1l ¢l d-1l

Question Number : 147 Question Id

S (HoSod’® ehsPHn

1) Money, Interest and Prices

(Gaigo, $6 Bty e

IV) Money in a Theory of Finance

28 a8 &a;oééoeﬁﬁ ((aT3e)
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Match the following List-1 with List 11
Bob BF-1E°0 womremh DF-IIE% womres’® adhsihsm

List-1 - Name
D511 2
a) Schumpeter
SpoSeb
b) Hirschman
et
c) R. Rodan
©b. 88
d) Harrod
Evierls)
Options:
IRTLERTED
Options :

a-1l  b-1l cIV
1. ®

a-lll b-1 cl
2. %

a1 b1V ¢l
3. %

4 a-lll b-IV cd

List-1I: Concept they popularised
08 -l 55 (@rDBioe®s 806
1) Indivisibilities
@Sjaj“a‘geﬁe:a
I1) Knife edge equilibrium
39 EJE S ego
) Circular flow
Sicsh Parsro
IVV) Linkage effects
WEND0L (Beraren

d-1

d- v

d-1

d- 1l

Question Number : 148 Question Id : 51714413390 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of
Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Match the following List-I with List-1l
Bob BF-1 €°0 wozrem OF-Il 60 woTres’ edsmw

List-1
a5-l
]
a) Rosen

B

by J.V. Krutilla
2.9. e
c) Weisbrod
Bows (=8
d) Malthus Thomas
TrER EﬁJﬂgE
Options:
ST

Options :

a-1l b-1ll ¢V
1. %

List-1I
Q -l
) Stated Self Control as Preventive check of Population
aerar Dartice iétjénﬂ éngdﬁ)o Adbol#Ee Dbod Dadbowrtd

11) Option Value concept introduced first
-95015 Dend S Foddme L}.’}é% _:;':@Eéﬁ'}

[Il) Theory of Hedonic prices
aEE8 ( Hedonic) $8e R)c:;c-éo

V) Existence value concept introduced first
ERN) Deod FHH Fnsbre HIT2EH6



a-lll b-1IvV ¢l d-1
2.+

- a-l b-IvV clll d-1

a-lll b-IvV ¢l d-1ll
4. ®
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Match the following countries with their place based on % of FDI equity inflow
(out of total FDI inflow) from each country into India in the financial year 2021-22
2021-22 &0 SosdBos® rsstEos™ S Bndo IS HesK Dépad (@aesro (FDI equity

inflow) &8 Bod 288 D40 ¥o erdor & Garoh @&&){;éo&'ﬁ 2858505

Country name Place
B¥o Bth ﬁ;:éo
a)usaA 1) Third
wihbse b ViTny)
b) Mauritius 1) Fourth
SrQEHD aeeniD
¢) Netherland 11} Fifth
R5bergol Bt
d) Switzerland IV) Second
&5%5@;305 Both
Options:
R areD
Options :

a-lv  b-1  cll d-1l
1.+

a-ll b-IV cll dI
2.
L x @l bIVocll o
a-IvV  b-ll ¢l d-li
4. %
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Match the following List-1 with List-II:
Bob D516 sozreid DFIE™ worres® asnsDin

List-| List-11

og-|

a) Securities Contracts (Regulation) Act
25588 srolerE) BrgBNS) arf
b) Enactment of SEBI Act
2hairf 30S( enactment) SosEBo

c) Equity derivatives were introduced in Indian
stock market in the year
5838 SroSs’ Ld BeILT) HIIHES vosEo

d) CNX Nifty base year
BohScnE) 8§ werd HoBE)o

Options:
HEmeEEEeD
Options :
a- |l b-1 c-Iv  d-lll
1. #
. % a-lll b-Iv Il d-l
a-ll b-IvV c d- i

a-v b-ll el d-l
4. ®

o511
e
1) 2000

I1) 1995

1) 1956

V) 1992



